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Which of the following Huawei Cloud services belong to the SaaS layer service?

A. Elastic Cloud Server ECS

B. Cloud Desktop Service Workspace
C. Cloud Monitoring Service Cloud Eye
D. Cloud Container Engine CCE

Answer: C

Which of the following services can enable each instance in the scaling group to be allocated application
traffic?

A. Elastic File Service SFS

B. Cloud Monitoring Service Cloud Eye
C. Elastic load average street ELB

D. Elastic public network IP

Answer: C

Which of the following cloud server resources can be automatically raised and lowered through elastic
scaling?

A. bandwidth

B. RAM

C.CPU

D. Hard drive capacity

Answer: A




When registering a private image with the image file, the capacity of the system disk filled in is less than
the capacity of the system disk inside the image file, which will cause the image creation to fail.

A. True
B. mistake

Answer: A

Which of the following commands can be used to view the newly added data disk in the Linux system?

A. fdisk-1
B. mkfs-t
C. mkdir
D. partprobe

Answer: A




